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B, = [—0.637298 0.774597 —0.137298]

94768.1390 -115184.8057 20416.6667
K, =|-115184.8057  140000.0000 —-24815.1943
20416.6667  —24815.1943 4398.5276

B,=[-025 000 0.25]

23333.3333 0.0000 -23333.3333
K, = 0.0000 0.0000 0.0000
—23333.3333 0.0000 23333.3333

B, = [0.137298 —0.774597 0.637298]

4398.5276  —24815.1943 20416.6667
K, =|-24815.1943  140000.0000 -115184.8057
20416.6667 —115184.8057 94768.1390

K=K, +K,+K,
122500 -140000 17500
K =| -140000 280000 —140000
17500 -140000 122500

cils el olSiws > o (aBass hlys Jleel b
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K => wB"EABJ

i=1
2old pladl F g ¥ g ¥ goliT a2y (gl g |y wleslone (lgize (2B4SS byl 4 4293 |

Bl:[—0.60714042 0.74047375 —0.15952625 0.026192916]

368619.49 —449571.54 96854.833 —-15902.778
—449571.54 548301.38 -118125.0 19395.167

' | 96854.833 -118125.0 25448.624 —4178.4576
—15902.778 19395.167 —4178.4576 686.06883

BZ:[O.020833333 —0.5625 0.5625 —0.020833333]

694.44444  -18750.0 18750.0 —-694.44444
-18750.0  506250.0 -506250.0  18750.0
? 18750.0  -506250.0 506250.0  —-18750.0
—694.44444  18750.0  -18750.0 694.44444

B3:[—0.026192916 0.15952625 —0.74047375 0.60714042]

686.06883 —4178.4576 19395.167 —15902.778
—4178.4576 25448.624 -118125.0 96854.833

7| 19395.167 -118125.0 548301.38 —449571.54
—15902.778 96854.833 —449571.54 368619.49

K=K, +K,+K,
370000 -472500 135000 —32500
—-472500 1080000 -742500 135000
135000 -742500 1080000 -472500
—-32500 135000 -472500 370000

9 Cound
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oN, 1 ON 1 1
—L1="(r-1) —2=-Z(r+1) —2==(r+1 =——(r-1
0S 4()85 4()54()85 4()
a—N:E[r—l —r-1 r+1 -r+1]
os 4
aJLa.au».))_aLo
e v 0 1.00 0.30 0.00
Dzl ~lv 1 0 |=219780219.78x|0.30 1.00 0.00
-
0 0 1-v 0.00 0.00 0.35
L 2 |
219780219.780 65934065.934 0.000
D =| 65934065.934 219780219.780 0.000
0.000 0.000 76923076.923
glaas ¥ ooS Joaz
eS| e | e | AN AN AN, AN AN, AN, N,
or or or or oS oS 0s oS
1 1
1 ——3 ——3 -0.3943 0.3943 0.1057 -0.1057 | -0.3943 -0.1057 0.1057 0.3943
________ N T e
2 —3 ——3 -0.3943 0.3943 0.1057 -0.1057 | -0.1057 -0.3943 0.3943 0.1057
________ R R e
3 —3 —3 -0.1057 0.1057 0.3943 -0.3943 ] -0.1057 -0.3943 0.3943 0.1057
S i T e
4 ——3 —3 -0.1057 0.1057 0.3943 -0.3943 | -0.3943 -0.1057 0.1057 0.3943
0S5 drslne
% g ON, ON, ON, ON, X Y
J= or or|_| or or or or sz Y,
ox oy ON, ON, ON; ON, | | X5 VY,
os  0s os 0s 0s 0s Xe Vs
0.3028 -0.3028
J = , |3, =0.0757
0.0528 0.1972
[0.3028 —0.3028 |
J,= . |3,/=0.0757
101972 0.0528 |
[0.4472 —0.4472 ]
Jy= . |J;]=0.1118
10.1972  0.0528 |
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0.4472 -0.4472
s= . [J,/=0.1118
0.0528 0.1972
N g AN, N N
OX OX OX OX
sl o Moo Moo AN,
oy oy
ON, oN, oN, oN, oN, oN, oN, N,
oy ox oy oOx oy Ox oy o
—2.6043 0 0.6043 0 0.6978 0 1.3022 0
B, = 0 -1.3022 0 -0.6978 0 0.3489 0 1.6511
-1.3022 -2.6043 -0.6978 0.6043 0.3489 0.6978 1.6511 1.3022
[-0.6978 0 -1.3022 0 1.6511 0 0.3489 0
B, = 0 0.6043 0 -2.6043 0 1.3022 0 0.6978
| 0.6043 -0.6978 -2.6043 -1.3022 1.3022 1.6511 0.6978 0.3489
[-0.4726 0 -1.5274 0 1.7637 0 0.2363 0]
B, = 0 -0.2363 0 -1.7637 0 0.8819 0 1.1181
_—0.2363 -0.4726 -1.7637 -1.5274 0.8819 1.7637 1.1181 0.2363_
[-1.7637 0 -0.2363 0 1.1181 0 0.8819 0]
B, = 0 -1.5274 0 -0.4726 0 0.2363 0 1.7637
| -1.5274 -1.7637 -0.4726 -0.2363 0.2363 1.1181 1.7637 0.8819
g A g O Y aliT wleys gy kid |y B Luyile ¢lgise wluwlsw Uf&[uu Sl 1dogs
[ 0.0000 0.6043 0.6978 0.0000 [ 0.0000 -1.3022 1.6511 0.0000 ]
B, =|-1.3022 0.0000 0.0000 1.6511 B,=| 0.6043 0.0000 0.0000 0.6978
| —2.6043 -0.6978 0.3489 1.3022 | —0.6978 -2.6043 1.3022 0.3489 |
[ 0.0000 -1.5274 1.7637 0.0000 [ 0.0000 -0.2363 1.1181 0.0000 |
B, =| -0.2363 0.0000 0.0000 1.1181 B, =|-1.5274 0.0000 0.0000 1.7637
| —0.4726 -1.7637 0.8819 0.2363 |-1.7637 -0.4726 0.2363 0.8819 |
tAg O N Yol wleys gy K i (uyile dewlo
2 2
K =ZZWi xW;x B ) xDxB xtx‘J(n’sv)
i=1

Yo
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6771353.995 665563.113 -—982788.535 -5552366.928
3 665563.113 891295.796 559916.398 -31112.268
! —082788.535 559916.398 881167.435 839731.958
—5552366.928 —31112.268 839731.958 5523436.211
891295.796  665563.113 -31112.268 559916.398
K = 665563.113 6771353.995 -5552366.928 —-982788.535
271-31112.268 -5552366.928 5523436.211 839731.958
| 559916.398  —-982788.535 839731.958 881167.435
[ 329237.720 982788.535 -665563.113 —745181.677 |
K. < 982788.535 8407098.117 —7956366.102 —-1617239.381
3| -665563.113 —7956366.102 8311562.911 1632795.515
| —745181.677 -1617239.381 1632795.515  3119843.586 |
[ 8407098.117 982788.535 —1617239.381 —7956366.102 |
K - 982788.535 329237.720 —745181.677 —665563.113
4| ~1617239.381 -745181.677 3119843.586 1632795.515
| —7956366.102 —665563.113 1632795.515  8311562.911 |
K=K, +K, +K; +K,
16398985.630  3296703.297 —3296703.297 —13693998.309
| 3296703.297  16398985.630 -13693998.309 —3296703.297
| -3206703.297 -13693998.309  17836010.144 4945054.945
—13693998.309 —3296703.297 4945054.945  17836010.144
:o&@;b&
KA=F
16398985.630 3296703.297 —3296703.297 -13693998.309 Ay, 5000
3296703.297  16398985.630 -13693998.309 —3296703.297 A,, 5000
X =
-3296703.297 -13693998.309 17836010.144 4945054.945 A, 0
—13693998.309 —3296703.297 4945054.945  17836010.144 A,y 0
\)|)T LSL‘M; u.;l><u|.>
Ay 0.00071189
A, | |0.00071189 .
A, | |0.00053094
A 0.00053094

A
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towdS bl 43 (i duwlow

=Dx
O-(fivsj) (CEN)

0
0.00071189
0.00071189

0
0.00053094

0

0

| 0.00053094

172663.7396 41726.1789 —-5116.5697 83556.8399
o, =| 41726.1789 o, =| 172663.7396 | o, =| 83556.8399 | o, =| —5116.5697
—113395.2538 —113395.2538 —76793.4254 —76793.4254

1
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ELEM NUM
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: ANSYS 138105 13 Lo 8 ulodils b

File

PRINT U MODAL SOLUTION PER NODE
wwxws POST1 HODAL DEGREE OF FREEDOM LISTING s

LOAD STEP= 1 SUBSTEP= 1
TIME= 1.8688 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE INM THE GLOBAL COORDIMATE SYSTEM

NODE 1h uy Uz USUM
1 8.a068 A.71182E-803 0.00008 A.71182E-883
2 B.71189E-883 0.8880 A.868688 A.71189E-883
3 9.53074FE-883 0.6800 A.8008 A.53074E-803
4 a.8068 A.53074E-8B3 0.0008 A.53074E-883

MAXTMUM HBSOLUTE UALUES
NODE 1
UALUE a. ?1189E Ba3 a. ?1189E Ba3 a. EBEB 8.71189E-8683

Vv
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o5 H 9o
2
(0,0) (4,0)
-1 | PO

HEVEIN.) éb’T Y glwly )0 ¥ gV o;b.&.é) cudlo fo.«.m|9> s 5 e

5000kN
D —
0,4) (2,4)
1 2
(0,0) (4,0)
N, = (1-r)(1-s) N, = (1+r)(1-s) N, = (1+r)(1+s) N, = (1-r)(1+s)

4

aN 1 6N 1 ON, 1 ON 1
“(s-1 —-Z(s-1) —=== 1 4=-_= 1

ar 4(S ) 8r 4(S ) or 4(S+ ) or (S+ )

a—N:E[s—l —s+1 s+1 —s—1]

or 4

PS4y o S @5 wliiie

V¥
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1 1

N,

oN, 1

oN, ON 1
—L1="(r-1) —2=—Z(r+1) —2==(r+1 =——(r-1
0S 4( ) 0S 4( ) 0S 4( ) 0S 4( )
a—Nzl[r—l —r-1 r+1 —r+1]
0s 4
aJLa.au».))_aLo
. v 0 1.00 0.30 0.00
D=1 ~lv 1 0 |[=219780219.78x|0.30 1.00 0.00
-0
0 0 1-v 0.00 0.00 0.35
L 2
219780219.780 65934065.934 0.000
D =| 65934065.934 219780219.780 0.000
0.000 0.000 76923076.923
glaas ¥ ooS Joaz
2 I S R S P PO R I A VA
or or or or 05 oS oS oS
1 1
1 ——3 ——3 -0.3943 0.3943 0.1057 -0.1057 | -0.3943 -0.1057 0.1057 0.3943
________ i T B I
2 —3 ——3 -0.3943 0.3943 0.1057 -0.1057 | -0.1057 -0.3943 0.3943 0.1057
________ N T B
3 —3 —3 -0.1057 0.1057 0.3943 -0.3943 | -0.1057 -0.3943 0.3943 0.1057
S i N e I
4 ——3 —3 -0.1057 0.1057 0.3943 -0.3943 | -0.3943 -0.1057 0.1057 0.3943
09515 duslxe
Q @ ON, ON, ON, ON, XY
J= or or|_| or or or or xXz Y,
g Q ON; ON, ON, ON, X; Vs
os  0s os o0s 05 0s A
1.78868 0
J, = . [,|=357735
-0.211325 2.0
1.78868 0
J,= , |[3,|=357735
-0.788675 2.0
1.21132 0
Jy= . 35| =2.42265
-0.788675 2.0

'O



2® Loyde (elos sumw 1Y oojle Jd=d

4=

[ 121132 O

j . |94 =2.42265
-0.211325 2.0

N Mg M N
OX OX OX OX
gl 0 Moo Moo AN AN,

oy oy oy oy

6N, oN, oN, N, oN, oN, oN, oN,

'y X oy ox oy X &y ox

g A g 8 3T wlays gl 1 |y B Lusyilo lgise whoslo (Sols (gl 123
PAgFol SRt y B yile yleie Ol ¢l a9

0 0 0 0
B, =( 0.059073 0.190927 B, =| 0.220463 0.0295365
0.059073 -0.059073 0.059073 -0.059073

0 0 0 0
B, =] 0.325542 -0.0755424 | B, =|0.0872288 0.162771
0.325542 -0.325542 0.325542 —0.325542

tA g £l wleys gy K i (uyile dewlo

Kzzzzlwi ijxB(Tri'Sj)xDxB

2
i=1 j=1

xtx‘J

(5.57) (5.55)

K = 37039.24356  79073.31985 K. = 391743.5904 41594.39568
| 79073.31985 296208.3845 2 41594.39568 16461.88602

3=

(761777.3245 —328439.3385} K
4

238011.2702 —121898.7068
—328439.3385 227882.9088

—-121898.7068 338567.6998

K=K +K,+K;+K,
(1428571429  -329670.3297
| -329670.3297  879120.8791

DT wleyo pledls 53,0 cwwd @ g siws J=

KA=F

1428571.429 -329670.3297) |[A;, 0
X =

—329670.3297 879120.8791 A,y 5000

Aq, | [0.014368) m
A, | 10.062263| m

\&
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: ANSYS 1381055 2l b duantlis

File

PRINT U HODAL SOLUTION PER HODE
s POST1 MODAL DEGREE OF FREEDOM LISTING wsessex

LOAD STEP= @ SUBSTEP= 1
TIME= 1.688688 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE IN THE GLOBAL COORDIMATE SYSTEM

NODE Ux uy Uz UsSUM
1 d.6886a @.68860a @.6886a @.6886a
2 8.6886a8 8.6886a8 8.6886a8 8.8868a8
3 d.884a8 #.14368E-H81 0A.84688 H.14368E-H81
4 8.6886a8 #.62263E-8601 6.860680 A.62263E-881

MARIMUM ABSOLUTE UALUES
MODE a 4 a 4
UALUE a.68868 A.62263E-681 @6.860680 A.62263E—A81

10 Caownd
b c.',wl)g‘)g uglggg)é )‘| oolazwl b OLo.” L5|)=‘ U.:l><bl> doleo

AX(r,s)=N,Ax + N,Ax, + N,Ax, + N,Ax, =0
Ay(r,s)=NAy, + N,Ay, + N,Ay, + N, Ay, =
Ay(r, S) =0.0191579s-0.0119737r —0.0119737rs +0.0191579

oo oladl jo Y=3M g X=1M dhs wlaize

3r s rs 3
X=N1X1+N2X2+N3X3+N4X431:?_5_34_5
y=N,y, +N,y, + Ny, + Ny, =>3=2s+2

1l ol il yolo ladl 4o ond ,S3 i wlazie 358 dolea 9o Jo |

1 1
rpZ—g ) Sp=§
:c*&L)fgﬂﬂgb Cgt?dgt?<ﬂbhzo)b ésé cuLcﬁimotbbb)bé L
Ay =0

A,, =0.032329 m

\\4
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(Suyialbs 9 330) (5359 b e glaxdio il Jilume 4o ol

olodl S 3l eolaiwl b g (Gl o ) Y jamo gliwly 15 039 o Sl 9 Sldmbo (15 (B8 b 5 o5l 5o
:L(bo)f L,.\l><bl> Ao el U9lla,o cll.wl)).b).) L5|<th§3 Y u“’9§ Grftﬂ)id 9 Lglo)f)le.?

y E=200GPa
A v=03
3 5 500N e
k
A 42) p=8890%9/,
(0,) _ m
4 ; g = 9.80665 AZ
> X kg xm
00 (0 N=1"¢
2l 0 9 (398 okS sy (Sem loasly i)
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A PRNSOL Command

File

|
PRINT U NODAL SOLUTION PER NODE
% POST1 NODAL DEGREE OF FREEDOM LISTING e

LOAD STEP= 1 SUBSTEP= 1
TIME= 1.08888 LOAD CASE= a
THE FOLLOWING DEGREE OF FREEDOM RESULIS ARE IN THE GLOBAL COORDINATE SYSTEM
NODE Ux uy UZ uUsSuM
1 8.35347E-885-8.12941E-684 @.00040 8.13415E-084
2 a8.6008 a.6808 a.6808 a.68008
3 B8.2567V7E-885-8.52151E-885 @.0008 8.58129E-885
4 d.68808 d.68808 d.8808 a.880d8
5 0.6008 0.06008 0.6608 0.60008
6 -8.88037E-B86-8.50258E-885 @.060040 8.58821 E-885
MAXIMUM ABSOLUTE VALUES
NODE 1 1 a 1
UVALUE 6.35347E-005-0.12941FE-064 0.00008 B.13415E-064
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